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Mathematics
Arithmetic: Paper 2 

total marks

40

Name

Date

Year 6 SATs Survival
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Key Stage 2: Arithmetic Paper 2

Total for 
this page

2

1 28 + 584 =

2      -      =

3 2 × 65 =

8
13

5
13
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Key Stage 2: Arithmetic Paper 2

Total for 
this page

3

4 451 × 1 =

5 77 ÷ 11 =

6 10 × 4 × 3 =
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Key Stage 2: Arithmetic Paper 2

Total for 
this page

4

7 6,034 - 402 =

8 72 - 10 =

9 27.04 + 34.5 =
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Key Stage 2: Arithmetic Paper 2

Total for 
this page

5

10 ? - 10 = 791

11 210 ÷ 7 =

12 7,200 ÷ 8 =
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Key Stage 2: Arithmetic Paper 2

Total for 
this page

6

13 125 ÷ 25 =

14 ? = 6,376 - 416

15 1,040,900 = 1,000,000 + 40,000 + ?
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Key Stage 2: Arithmetic Paper 2

Total for 
this page

7

16 10 - 0.4 =

17     +     =

18 4 ÷ 100 =

3
11

7
33
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Key Stage 2: Arithmetic Paper 2

Total for 
this page

8

19     of 900 =

20 419 × 24 =

4 1 9
× 2 4

21 30% of 1,500 =

2
3
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Key Stage 2: Arithmetic Paper 2

Total for 
this page

9

22 1,092 ÷ 39 =

3 9 1 0 9 2

23 0.05 × 18 =

24      +     =1
2

2
15
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Total for 
this page
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25 1     +     =

26 5 - 4.228 =

27 8.1 × 40 =

1
2

3
4
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Key Stage 2: Arithmetic Paper 2

Total for 
this page

11

28 1     -     =

29 6,197 × 49 =

6 1 9 7
× 4 9

30 95% of 360 =

2
5

3
10
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Key Stage 2: Arithmetic Paper 2
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this page
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31      ÷ 3 =

32 72 - 24 ÷ 4 =

33 1     × 20 =

1
2

1
4
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Key Stage 2: Arithmetic Paper 2

Total for 
this page

13

34 31% of 450 =

35 7     - 4     =

36 5,166 ÷ 82 =

8 2 5 1 6 6

1
5

4
7


